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Topic:- Child Development & Pedagogy (CDP)

1) Which intelligence do navigators and sculptors have? 'Fjﬁ'ﬂTR}f ¥ frg yepR @t §'@TI<_VIT ﬁ'cﬁ %?
1. Naturalist/ m

2. Spatial/ EJ|IEET

3. Interpersonal/ fqdafades

4. Bodily-kinesthetic/ ¥ RIRe-TTde (STSail- HRACH)
Correct Answer :-

. Spatial/ RJTA®H

2) is the method that studies growth by observing and measuring the same individual for

a variable period, during his/her growth / dg fafer % forad fdt safea &1 Igat
g&@,wmm%mwmmﬁwaﬁ?wm@amﬂq
SIGIE

1. Mixed Method/ T3 fafer

2. Longitudinal Growth/ &Iﬂ%{%ﬁ?{@

3. Cross Sectional Growth/ 1l GHW fawra
4. Extended Method/ fa%aixe fafe

Correct Answer :-

« Longitudinal Growth/ Glﬂ%?ﬁq%

3) Success is most crucial in school performance because it helps the child / CEIGRE uﬂ"\’h ﬁ,

THadT 999 Heayul @ T 399 9= &1 fA1 o daq fAredt &:

1. show his knowledge over other students / 3= BT & TH&l 30 I BT U=
2. passing the examination / TI&T U AT

3. winning Prize / Y¥PR ST



4. feel more Confident about learning / TTTH & Hay T 3ffdd TeAfay™ Hegd Pl

Correct Answer :-

« feel more Confident about learning / TSV & Tdel T 3ifefep eIy HeJH Hl

4) Infants at an early stage are highly ./ IR AT H QTS{[ Aft®d GOk
1. Extravert / Eﬂ%—@@ﬁ
2. Unselfish / frard

3. Egocentric / Whiod
4. Altruistic / WRIUBRT

Correct Answer :-

. Egocentric / Wb i5d

5) Conventionally, how many types of needs are explained in Maslow’s theory? / TRUR® &7 9,

T & Rigid ® frae UeR 3t sraxaw s o1 afvfd fear mar g2
1.2
2.6
3.5

4.3

Correct Answer :-

6) An extrovert child would:/ Tdh aﬁﬁtcﬂ CE0)) hT _EaTIT:

1. Tend to think things through inside your head./ 3o 3fidRe AfsTss ¥ fidq &1 Uqd Gond
2. rather just observe./ gfew Ry e s

3. Think more and talk less./31f8® fid 3R STadid HH B

4. Like to be in a fast-paced environment./?ﬂ_d dldldry] ff el LR-iQ Elﬁ'l

Correct Answer :-

« Like to be in a fast-paced environment./?‘ﬂ_d qIdTaRoT & gl TG B

7) The term personality has been derived from / ‘i’ (mm e § A & forar wan %:
1. None of the above /3TYad & § ®Is g
2. Greek / q\:l'l:ﬁ



3. Latin / il
4, German/\_rlfl:f

Correct Answer :-

o Latin/ a é:l

8) The assessment results from personality based projective tests are ./ Safeaed SmeTiRa

I T A qeipTdaRomy &)
1. Foolproof/ dXdl
2. Controversial/ [ddTaRug

3. Futile / Y

4. Objective / aﬁﬁg
Correct Answer :-

« Controversial/ [daTer e

9) The child worries almost everyday about getting hurt. This is because of ./ T HI die

WA & IR A arw afafeT A e dft 31 sadTdR )

1. Autism / STET (3HTTESH)

2. Attention Deficit Hyperactivity Disorder / SITFIHTd Td farafebaar fawR
3. Anxiety Disorder / IEGIRGEIRN

4. Learning Disability / 3TeRTH S{&HdT

Correct Answer :-

« Anxiety Disorder / IEGIRGEIR

10) Which of the following is not an individual difference likely to affect learning? / ﬁn;ri%r@?r )

B T TP AR 3R g1 g &Il AHTad: fTH B YHTaId B AhdT 82
1. Body mass / TR STHT

2. Intelligence / §fGH

3. Experience / JHd
4. Motivation / 3{fHURTI

Correct Answer :-

« Body mass / SRR S0HM



Which of the following is a personality test created by Cattell? / fafafad d 9 o9 91 Sed gRI
AR o T afare wdeor 32

1. Sentence Completion Test / TR q:UTﬂT GRyaror

2. NEO-FFI / T13 31-THUH TS

3. Sixteen Personality Factors Questionnaire / I Afadd SRS TAaa (ﬁl_cl'\‘:lﬂ:f qIferdY Shaed

4. Locus of Control / G0 &1 f&&HTT (Fﬁw 3 & é,\|5 )

Correct Answer :-

« Sixteen Personality Factors Questionnaire / HIeTe Afddd SRS gyEat (ﬁla'\’zl_a:f qfTferdt e

12) In an aptitude test, any estimate of a person’s future possibilities of accomplishment is

./wuﬁ%amuﬁ&nﬁ,ﬁaﬁaﬂ%@uﬁma&mﬁaﬁa&ﬁmeﬁwaﬁém
gUE 7l

1.a probability/@ﬂ'ﬂ-ﬂa:ﬂ
2. a certainty/ T (&
3. a question/ U UH

4, an assumption/ Ueh YRUM

Correct Answer :-

« a probability/ T JHTGHT

13) Moving from examples to generalization is: / ISTERUN | ATHTRASHIUT $T 3R de-l %:
1. Correlation / Hg-gaY

2. Inductive / ANTHATHD

3. Incidental / 3THTRTDH

4. Deductive / FRTHATE®

Correct Answer :-

o Inductive / SAFTHATHD

14) Bandura believed in Reciprocal Determinism. This means that: / §gT TRER® Fadarg d
fayra #d A1 sHPT 3 @

1. The environment and one’s behaviour cause each other. / GRAYT G?R oot &1 ogdgR W—QFQ &
HRU S 2|

2. One’s environment causes one’s behaviour. / T BT TNOT, ! & FATER & HRUT T gl



3. One’s environment remains unaffected by one’s behaviour. / fodt & dglR T foodt 1 gRkawr
3YTfad IgaT 8l

4. One’s behaviour is independent of one’s environment. / oot &1 gdgR, et & ufaw @ Wam % [

Correct Answer :-

« The environment and one’s behaviour cause each other. / TIRATT GﬁT oot o1 odglR W-g{-l\{ &
BRI §dT g |

15) Memory is measured by the method of / '\‘Hﬁf &I = fafr & wrar Sran %:
1. Reproduction (recall) / GTodlGT (Rt gt a1g H=)

2. Interview / HI&TPR

3. Observation / (a1

4, Experimentation / TN

Correct Answer :-

+ Reproduction (recall) / Yo UTG (ﬂW\fH gl TG RG]

16) What is the term used to describe the negative attitudes that people have towards an individual

based on their sex? / TPRIHD VDIV BT quI- HIA & fore fHy ug o1 IURT fFar Jar 2,
or =1 39 o1 & Sy R i aufea & R #ad @2

1. Patriarchy / ﬁ?ﬁ?ﬂ

2. Gender roles / \_SI'Iﬁ"T(‘T H&fﬁﬁ
3. Sexism / [(RTHG

4. Socialization / JHTSIHRUT

Correct Answer :-

o Sexism/ ﬁ“FTﬂE

17) What is the term that Piaget used to describe imitation carried out with parts of the body that

one cannot see? / I8 XTeg T & FoTH®T ITANT fUum™ A TR & I BT & 1Y B T T9d $1
ol 1 & Rre fpar 8, R o1 tg T awar &2

1. Invisible imitation / 3e€RY ¢l
2. Spatial imitation / TS THhd
3. Visible imitation / =T T
4. Model imitation / HISd b dl

Correct Answer :-

« Invisible imitation / HERY dh



18) One’s heredity is determined at the time of ./ fft &t an‘:ﬁ&mrr & ITI R
fuffra s st 3

1. Maturity / GRU&T
2. Conception / e
3. Growth / famrg

4. Birth / ST H

Correct Answer :-
« Conception / o
19) Counselling involves ) RTHRE H RIS ﬁ?IT % |

1. consultation and interchange of opinions between counsellor and the individual / qTIﬂ’QfE'TﬂT 3R Tfed & &=
foaR! &1 SeF-UeM SR IR

2. advice from counsellor to the individual only / $HId Aad I MR H TaTg Tl

3. problem sharing by the individual with the counselor only / Had W IIQiak_‘II & 1Y Hfdd gRI qHAl
RIEICEGI

4. schools identifying issues with children with needs / SI¥=Xd aTdl Sl o 1Y Hﬁ P UG B a1
faerera

Correct Answer :-

« consultation and interchange of opinions between counsellor and the individual / W’-‘ZTE‘TGT 3R fed &

5 foarRY &1 sfieM-UeH 3R wRmsf

20) Vocational training to persons with locomotor disability is more related to domain. /

AP FRaaiTaT aTa Al &1 AaERS URIgor | S & it defia 21
1. cognitive / GITTH®D
2. none ofthese/ﬁﬁﬁﬁgﬁ

3. affective / UHTAT

4. psychomotor / TISH AR
Correct Answer :-

« psychomotor / AIEH AR

21) Social learning theory was proposed by: / TS SIfERTH Rigid E:I% SRT UdTiad foar
T YT:

1. Freud / IS



2. Bandura / S&XI
3. Skinner / &R
4. Pavlov / UTddlld

Correct Answer :-

« Bandura / S0

22) Socially immature students are known as students. / GTHTIOT® &0 | Ufus ST
Eal Bl & ¥4 | =1 ST 3|

1. Dependent / BN
2. Alienated / 3{CTTT-YcTiT

3. Phantom / 3THTET
4. Social / TG

Correct Answer :-

» Dependent / Rk

23) Social knowledge is obtained through from other people. / 30 | &
AISH | TS [ 9w fbar Srar g1

1. Feedback / fdferar (qﬂ’e'.éﬁ
2. Discouragement / B?ﬁ?\‘:ﬂg:[

3. Encouragement / Eh?\‘:ﬂ?:[

4, Logic / LCY (?m\lﬂ@

Correct Answer :-

« Feedback / Ufafehar (qﬂsém

24) According to Gardner, spiritual intelligence is / MER & SR, 3T ATfdre Sfgwdars:

1. the ability to perform transformations on one’s initial perceptions / fdil @t IRMYS yrRomst &
URGcH B Y &l

2. the ability to contemplate big questions about the meaning of life / Sfaq & G%Qq & oy A ofed
THES R fa=R A &1 &l

3. the ability to make distinctions in the natural world / QW gﬁm H faug o= o &

4, the knowledge of one’s own strengths, weaknesses, desires and intelligence / 30T G &t g,
HHSRG, STt 3R TG BT I

Correct Answer :-



« the ability to contemplate big questions about the meaning of life / Sildd & 3519 & JaY T Sffcd
THES R fa=R A &1 &l

25) Formative assessment is: /Wm%z

1. A process that does not involve value judgement / wmﬁmﬁ HTR[ YR (é?{lfrﬁlﬁ?) Rl
TR

2. Performed by evaluating student learning by comparing with a benchmark / A1cUS %wumm
B SHATH & Yedidh gRI fohanfad faran ST g |

3. Used for rating the learner through high-point valuation / IA-PIfe EREE & HregH 3 fRremeff (?*Fh) P
Irgar Fuid s & forg IuaiT foan o g1

4. Less beneficial for the teacher as it does not help to know the weaknesses and strengths of a learner /

Rree & foT Sreaar Aryvie § iifes a8 Rremlf (@ R) o 701 3R GIY &1 o+ & Heg gl dral g |

Correct Answer :-

» A process that does not involve value judgement / Wmmﬁ \HlaQi YRUM (é?qaaﬂa SIEEY
TRl

26) The role of the teacher in a progressive education is that of a / T wTfa=ite fRuem # e #t
TP YT 3:

1. Disciplinarian / 3{R[MHh

2. Instructor / UTRI&H

3. Guide / ANTGRI®

4, Lesson planner / JTd ISHIBR

Correct Answer :-

« Guide / HM[GR[P

27) According to research, peer-assessment is valuable because / MY P SR, '\‘IEH’Tlﬁ
Yo+ Jeud g Fife
1. it encourages competition among the students / WW%WWH‘T@WW%I

2. pupils may accept feedback from one another on their work / 91 30 HTH R Udh W J
gfafpar o o I&d B

3. students know their rank in the class /€§'I3T$&‘I'fﬁ mﬁﬁlﬂﬁ%l

4. it reduces workload for teachers to assess the students / I8 BT & Hedih & fore gt & wd
SIS B FH FA 5

Correct Answer :-

« pupils may accept feedback from one another on their work / &1 309 HTH R Udh QFQ q
gfaforar Ui &R IHhd §



28) According to Fabiano, Pelham, Manos, Gnagy et al. (2004) an effective means of reducing disruptive
behaviors including aggressiveness, destruction of properties and non-compliance in the classroom is?

/ i, UdeH, 9, 19 U 3fd (2004) & AR, &1 A SAThTHET, JUILHT o7 fa-r=r
3R TR-3guTer Gfgd fAaeTeR TaeR & FH $1 T TS T e =1 32

1. Time —out (TO) from positive reinforcement / TP IRTHD {;Liér\lqO{UI Ll CIQH-313¢C (é)[‘-’rh)

2. Time —out (TO) in the classroom / &I T CIgH-3M3C (ébf B‘h)
3. Corporal punishment / RIS &8

4. Detention / FRYY

Correct Answer :-

« Time —out (TO) from positive reinforcement / D RIHD WUT | CIgH-313¢C (_cpf 3ﬁ)

29) Sometimes, children are dissimilar to both the parents. This is because of the Lawof _ ./

Fl-m M, sa-Rar e ommaRdivar SPomdorRusarsl
1. Segregation / GUTHRUT

2. Variation / fafderr

3. Dominance / T4

4. Regression / UCTOTHA

Correct Answer :-

« Variation / fafaerar

30) In Sternberg’s theory of intelligence, wh|ch of the foIIowmg steps involve finding a solution to the
problem? / TG & gfgwn & Rigia #, Frafafaa & 9 fow avor o awwn &1 aury= g
HT A 72

1. Application / e«r@’crqﬁﬂ (Q'Tﬂwtl)
2. Mapping/ﬂﬁﬁﬁm (ﬁﬁﬂ)

3. Encoding / Habd (SADITET)
4. Response / Ufdfshar (Rai=)

Correct Answer :-

« Response / afafear (hW\IJT\‘:D

Topic:- General Sanskrit(L1GS)

TATET Asc AN &l fastied: TIead?



AEGIEH
1. I
oA |
2.
3. © |
ageff |
4, 2
Correct Answer :-

‘ﬂqiﬁl

CIC eI E
ar |
1.

d |
2
d |

3. =2
fa |
4,
Correct Answer :-

o dr |

Y HARISITT ST oI oThR T [ha?
- FARISIA: |
- 3R |

AT |
_ o)
, Ui |



Correct Answer :-

. Saafd |

d9HRH
5, =2 Hl

Correct Answer :-

Y AHEGEY 5cIEd fqugared fhH?
AT ¥ |

AT a8 |

AT JaE |

, AT T |

Correct Answer :-

 IMERIT: 3 |




3. 2 -
ITToT |
4. =

Correct Answer :-

) TeglcT: 3T Fied: &: ?
1 alralaQTi |
, Illn't.—-lla':\’Ti |

; C
araT: |
4. =2



, oIund |

Correct Answer :-
SIUTT |

Correct Answer :-

_ dfeecdr |

* R Agead e |
) ATTAH |
) ATT-gem@! |

Hluthlvdéuﬁ |

CEEIILIN

Correct Answer :-



PUTT SAET JUIT g q2reh for@d |

3. "
% T T 3 |
5. ™

Correct Answer :-
% 3 T 3 T3 |

ST

Correct Answer

3

Y3 ¥ Gladled U fahA 72
38|

| 3T |

3T |

3



38 |
4,
Correct Answer :-

38l |

3. l
. AEEEGI

Correct Answer :-

1. =
$|raai |
2.
Hifrh: |
3,

, PIAT: |

¥ eI UGTT TATR: h:?



2.

SIS IEERE
3. =2
, U |

_ Gredaresereal |
_ 37efcareRrdaGTa |

, ArdfeheRraTeeA |

Correct Answer :-

 HICdIGRETGH |

® arschier 3 eed elerd |
 3TSCTARI. |

_ 3Tsefaer: |

_ Jrscfderd |

, 3TSCTARIC |



Correct Answer :-
CLAIERGE
. S

) e1qy sfa wREAT gbq AHTET?

| ARIH |

, dcdH |
N TAqH |

, ACTAICTA |

Correct Answer :-

3.
4. E|irf| |

Correct Answer :-

 gied |



2. l
3. ¢ l
) UodAT |

Correct Answer :-

.WI

3fATecT 5T UIT: &: ?
g |

1

o cdr |

2
39T |

3. -~
HIGER

4, -

Correct Answer :-

g |

P X AT A fe?
 dq |
dc |
2. =
31 |

UCHG |
4, 2 ~

Correct Answer :-



24)

IMedcdH 3% g, Yqh ?bd I

ITH dT |

, e dcd |

I Y|

, o < |

Correct Answer :-

IMH dcg |

* 2u3¢ fa TEaT e forEd |

1 U AT cRATAGRIRITH |

UHRIAMICRATAGARTH |

2

U AN cRATA/NTH |

3

U T TR |

4

Correct Answer :-

U AT cRACAGURITH |



q+ IA |

2
3qq'r+$€|?{l

ar + aH |

4

Correct Answer :-

9T+ 53H |

URIAT |
o

3
URI: |

4,

Correct Answer :-
GRIdr |

. 2

™ greITa: IC-TAH-IVGfdaaed {5 2
_ offaant |
, SIadT |

Correct Answer :-



30)

Iifd T 58T 39: &h:?
1. T l
2. l
| 3B |
IMeSd |
a4, 2
Correct Answer :-

~ 37TTad |

Topic:- General Hindi(L2GH)

1) BT TP & T A YR TR BT 1Y et
qE 3ATaTS Yo FUWR HIudl gs N
€ T TS HT BT 4TS §



g1 IHPT sy

1 Yod IaHR TG 3 qTAT R T BIS R¥AGR
BT AP B TR |

ag 3Ot I framar oman 3 e @1 @

g W9 3 PI Sfed a1 S oivTd & G gobT gl @
1 U § T BT ATgDY

QAT STl § Yedhdl §3IT U 38¢ |

9 ISR & W HY FUTd 351 8

ST U B UgH? ) YD 7Y UY PT I<R JaT3:
U - '8 ATATST Yo HASR Biqdt g5 At # o3 &) $UwiR 7 Siudt g% mar fast udia g1 i € 2
1. A &Y

2. IRIH &I

3. D bl

4, GIADR DI

Correct Answer :-

. HIADR DI

2) TB TS & TEH o UK TR BT A1y St

98 31T Y HUR HIudl gs i

T Y& MAS P BT UTS ¢

g1 39T =g

a1 Yo Iae? drEH 3 ara ¥ BT BIS RTaer
B AP Dt IR A

I8 3Ot I framar oman 3 e e @

MY SF 3R DI SAfed arH & SFTd | W b1 giar @
1 3T TR B AADR

QT STl § Yedhdl §3IT U 38g |

a9 TTAPR € R &) FUT 75T &

ST TR B Ugh? ) U 7Y Uy HT I<R Ja133:
TR - HH | qTed giaT @ ?

1. Gitd & 3118 WR

2. Gfid & Ui TR

3. Tifid & IId WR

4, G & dH W

Correct Answer :-



3) YOI TS & T od YR R &1 qrY it

98 3MTaTST Yo FHSR Hiudl g5 o

9 YT TS BT BT HIS &

g1 39PT =g

1 Yqd IaP W@ 3 aTaT ¥ BT BIS RTAeR
TSI TS Pt IR H

9% Ut o1 frarar 3man  urEie ora |

g S ¥ PI Sfed dH1 S o § @Y gobT g @
1 U § T B ATTBY

AT ATl § Yedhdl §3IT U 3gg |

a9 WTAPR € VI B FUTd Tgar

SUad UL &) UgH -9 U T Uy BT IR Jarsd:
WA - ‘Sifed arHi & sia’ § A ?

GGG R

2. ST B - S

3. G B S1qd TevTs 9

4. Tifid & RIG-3feRIE

Correct Answer :-

. A BT S TERTS A

4) G-I MAS F I 9 YR TR ST 91y it

9% AT YX FUWR et gg A

9€ GBI MG 1 BT HIS ?

a1 IHPT =g

1 Yq@ IaPH W@ 3 qTaT R BT BIS RTaeR
TS TS Pt IR §

9% Ut o1 Frarar 3man § uEie Sra |

& &d 3R I Sfed a1 & oivTd # @) o1 a1 @
1 U § T B ArgBY

AT ATl § Yedhdl §3IT U 38q |

a9 PR & R B FUTd Tgar

SUad ULl ®1 UgH 19 U T Uy o1 IR gaTsd:
WA - Y S B TS Bl § ?



1. S
2. TRVIGR
3. WREH
4. it

Correct Answer :-

5) T AP & T O YR TR B7 Q1Y it

98 STaTS Yo FUWR HIudl gs N

a8 YT TS BT BT TS &

a1 IHPT sy

1 Yo@ IaPH HrE 3 aTaT R T BIS RTAeR
TS TS Pt TR §

9% U o1 Frarar 3man § urEie Sra |

& &9 3R P Sfed a1 & oivTd # G o1 81 @
1 U § T BT ATgBY

AT ATl § Yedhdl §3IT U 38q |

a9 FTAPR & R B FUTd Tgar

SUad UL 61 UgH -9 U T Uy BT IR garsd:
T - U U | ST @ wwEfie e T R 2

1. 74

2. YrEE

3. IR}

4. dH

Correct Answer :-

6) T TS & T o YR TR BT /1Y el

98 31T Yer FUGR HIudl gs N

a8 I TS BT BT U &

g1 IHPT sy

1 Yo@ IaPH W@ 3 qTAT R T BIS RTaeR
BT AP B TR |

9% MU= I frarar smar § wrdH ora &

T &9 3R I Sfed a1 & oivTd # @) o1 a1 g



1 U § T BT ATgBY

AT ATT § Yedhdl §3IT U 3gq |

9 TSR g1 R ST U 7541 8

ST UM Bl UgHR -1 TR Y UY BT IWR JaTsd:
R - Ugd U &1 9 e gt awar g ?

1. T AP TS

2. i

3. W

4, YIdDR

Correct Answer :-

7) TSI TS & T O YR W@R &1 a1y it

98 STaTS Yo FUGR HIud! gs N

9€ YT MG B BT HIS ?

g1 IHPT sy

1 Yod IaH TG 3 qTAT R T BIS R¥AeR
BT AP B TR |

9% U= IS fArarar smar @ urie wra &

g S 3 PI Sfed dHl S oivTd & G IobT g @
1 U § VW BT ATgBY

QAT STl § Yedhdl §3IT U 38¢ |

a9 TTAPR & T B U a1 8

SUTd ULl ®1 UgH 14 U T Uy BT IR gaTsd:
T - A U # Bfa A faet aeHifar o wer i @ 2
1. T h

2. 9gH

3. JIAPR

4. REder

Correct Answer :-

8) YIS & g 9 YR TR HT A1y it
98 31T JYer FUGR HIudl gs AN
9 GBI MGF BT BT UIS 7



g1 IHPT sy

1 Yod IaHR TG 3 qTAT R T BIS R¥AGR
BT AP B TR |

9% MU= IS fArarar smar @ wie wra &

g W9 3 PI Sfed a1 S oivTd & G gobT gl @
1 U § T BT ATgDY

QAT STl § Yedhdl §3IT U 38¢ |

a9 TAPR & T B U IgaT 8

ST UL H1 UgH -9 U T UY BT IR JaTsd:
U - UEd piad1 1 Aefl @ 2

1. faaemTere et

2. AT et

3. gadd el

4, qUIFTED Qeft

Correct Answer :-

9) YIS F g A YR TR $T 91y it

98 31T Y HUR HIudl gs i

T G MAS P BT UTS ¢

g1 39T =g

1 Yo Iae? drEH 3 aTa ¥ BT BIS RTaer
B AP Dt IR A

I8 3Ot I framar oman 3 e e @

MY SF 3R DI SAfed arH & SFTd | W b1 giar @
1 3T TR B AADR

QT STl § Yedhdl §3IT U 38g |

a9 TTAPR € R &Y FUT I8 &

ST TR B Ugh? ) U 7Y Uy HT I<R Ja133:
U - 3FIgS T 8?2

1. RTCTTT

2. foRly @A

3. WG &I faad

4. AiHIa

Correct Answer :-



10) T&I TP & IgH o U TR ST A1Y Sl

98 3MTaTST Yo FHSR Hiudl g5 o

9 YT TS BT BT HIS &

g1 39PT =g

1 Yqd IaP W@ 3 aTaT ¥ BT BIS RTAeR
TSI TS Pt IR H

9% Ut o1 frarar 3man  urEie ora |

g S ¥ PI Sfed dH1 S o § @Y gobT g @
1 U § T B ATTBY

AT ATl § Yedhdl §3IT U 3gg |

a9 WTAPR € VI B FUTd Tgar

SUad ULl ®1 UgH -9 U T Uy BT IR garsd:
U - 39 UE § I A STo-T07 Hivg 82

1. FTH AP TS

2. TS, 107

3. HIgd 07

4. 319 01

Correct Answer :-

11) T TS & T o U} WR $T A1y St

9% AT YX FUWR et gg A

9€ GBI MG 1 BT HIS ?

a1 IHPT =g

1 Yq@ IaPH W@ 3 qTaT R BT BIS RTaeR
TS TS Pt IR §

9% Ut o1 Frarar 3man § uEie Sra |

& &9 3R P fed ) & oivTd # @) o1 a8
1 U § T B ArgBY

AT ATl § Yedhdl §3IT U 38q |

a9 PR & R B FUTd Tgar

SUad ULl ®1 UgH 19 U T Uy o1 IR gaTsd:
U - WAPR B TS B, Gax 3R FASIR T @ ?



1. T TS D1 YRI 176l ! HIHAd o 84
2. T TS & UG & HRUI

3. ST I U8d B3 8

4, 3T €I B HRUI

Correct Answer :-

. T TAS & YR SHTATS! 6! S o 8

12) T TS & I o U} WR $T A1y St

9% ATATS YeX FHWR et g8 Ao

9 Y& TS BT BT HTS &

a1 IHPT sy

1 Yo@ IaPH W@ 3 aTaT R T BIS RTaeR
TS TS Pt TR §

9% U o1 Frarar 3man § urEie Sra |

g S 3a¥ PI Sfed a1 S o & @Y IobT gl @
1 U § T BT ATgBY

AT ATl § Yedhdl §3IT U 38q |

a9 FTAPR & R B FUTd Tgar

SUad UL 61 UgH -9 U T Uy BT IR garsd:
U - WIABR [$H PR TS B l6H SUTT g ?
1. T SR

2. A WR DI JHTADR

3. IR I B I8IHT

4. 3fdbel T Y TATDHR

Correct Answer :-

. AR

13) T TS & T o U} W FT A1Y St

9% ATATS YeX FHWR et gg A

9€ Y& TS BT BT HIS &

g1 IHPT sy

1 Yo@ IaPH W@ 3 qTAT R T BIS RTaeR
BT AP B TR |

9% MU= I frarar smar § wrdH ora &

g S Sa¥ PI Sfed dH1 & o § @Y IobT gl @



T 37 g IH BT Argd

AT ATT § Yedhdl §3IT U 3gq |

9 TAPR & R HY FUS Ygam 8

ST UM Bl UgHR -1 TR Y UY BT IWR JaTsd:
U - AR, TAS HT FT 781 81 GHar g ?

1. 'y

2. BICTUIS

3. foar

4. R=deER

Correct Answer :-

14) BT MOP & G A U} TR BT Q1Y et

98 STaTS Yo FUGR HIud! gs N

9€ YT MG B BT HIS ?

g1 39T sy

1 Yod IaH TG 3 qTAT R T BIS R¥AeR
BT AP B TR |

9% U= IS fArarar smar @ urie wra &

g S 3 PI Sfed dHl S oivTd & G IobT g @
1 U § VW BT ATgBY

QAT STl § Yedhdl §3IT U 38¢ |

9 IAPR & TR HY FUTA 351 8

SUTd ULl ®1 UgH 14 U T Uy BT IR gaTsd:
TR - EASR T § 2

1. T TS o Uiy

2. G- TS & 3T

3. Gyl 31Tl |

4. T3 TGH & TR

Correct Answer :-

. T TS & G

15) GBI AP & T o U TR &1 1Y it
g 3ATATS Yo PUSR HIudl g3 N



9T GBI AP F1 BT UK &

1 39T Rreg

1 Yad gaH) HREH 3119 aTdT gR 31 HIg RIAGR
BT TS Dt TR A

9% 3=t I fyamar sman @ yriA w1 @

S od 3 B SAfed aFl & STa § At o1 giar g
T YA g1 FH B ATgDR

TAT STT § HEhdT g3 U 3Fgg A

T4 WAPR g1 R B FHTA 7641 &

ST UL H) U T UD T Uy BT IR qa134:
U - U U § WaaR 31 3 8 2

1. 33T I aTe
2. 3BT WG H 3§ areln
3. §R1 19 HRA arar

4. TR DT 1Y S aTa

Correct Answer :-

. TO% BT 1Y S grell

16) & w0 foRaaT §? U WY IST WA 9 Usdl @ W g81 Hfe 4t 81 FifP 39T T I a9s & Aiak®
g & TR A T IGA1 81 39 P! AT A $o aredl § FiY ST STHM oY 781 8, 7 S Fyraqn o @ ar
812 g1 &t fpan o v @ b 37 @ $o &1 st fvar Wiy, fakiy w5 9 T61 &1 g e gl & g
IR B grar 81 TP IR < 98 ¢ | s foraar § fr wad Si+n aredn § 9t w4l forman g, ford famm s
Y BT I<R 8] F7e JPdT g1 Idd W J=1 I<R F81 8| Frad & a@® 39 R fagsar &) ygarar @ oread
PR ITA forar 3N forRae? €1 a8 I9A gad &) wirar 21 § off 39 sriafve faawrar @ gfdw R & g, dewi eiar
I @ 3R U A1 F fore ferar §1 O-7 fayw 8 % 9t pfaer st foraa &1

ST eI F UgH 19 U T UY BT IR Ia153:
TR - TR FTHE R ?

1. 3T DA dTell

2. dTgl

3. gHahS
4, 3fiaR®

Correct Answer :-

17) & Y foraaT §2 U8 UY IS8T WA O Usdl @ W 981 Hfe Wt 81 P 39T T SR a9s & Aak®
Wia & TRl A W TGdT 81 39 GaB! e W $© ara § qiY A7 A at A8 8, 7 9 JuraAn i g A



812 a1 &t fpan o v @ b S & $o &1 st fvan Wiy, sy w6 9 T41 &1 g o gl & g
IyUft 8 WHdT 81 TP SRt g § % ' gafen foraan § for wau S medn § 91w o g, o e s«
Y BT I<R 8] 1 hdT g1 Idd W I=1 I<R F81 8| Frad &) au® 39 R fagsrar &) ygarar @ e
PR ITA forar MR forae? €1 a8 I9A o ) wirar 21 § off 39 sriafve faawmar @ gfew R & g, dewy eier
I @A 3R U A1 F fore ferar §1 O-7 fayrw 3 % it pfaer it foraa &1

ST TRl $ UGB 19 IR T Y BT IR 9a153:
7% - a8 @ e e A p A fpar g 2

1. FTH AP 7S

2. GhHB 3R 3HHD Sl

3. GHHD

4. AHHD

Correct Answer :-

18) & Y foRaaT §? UE WY TST WA O Usdl @ W g1 Hfe 4t 81 TP 39T T IR aWs & SHiak®
e & TR A T @1 81 39 P! AT A $© aradl § FiY 7 STH oY 781 8, 7 S FHraqn o @ ar
812 a1 €t fpan o W @ b 37 @ $o &1 st fvar vy, fasiy wu 9 T4t &1 o o gl & g
STt g Wwdr 31 TP SR df 98 ? % A safen foraar § f w@w s argan § 9 7 Rear g, o e s
Y BT I<R 8] [7e JPhdT g1 Iad § I=1 I<R F8! 8| Frad &) a@® 39 R fagsrar #) ygarar @ e
PR ITA forar 3N foerae? €1 a8 I9A gad 81 wirar 21 § off 39 sriafve faawmar @ gfew R & g, dewi eiar
I @A 3R U A1 F fore ferar §1 O-7 fay 3 % 9aft pfaer siifem foraa &1

ST el F UgH 19 U T UY BT IR 9a153:
U - ‘g A F o A eR® § 2

1. YD HRb

2. HH HRS

3. JHIGH ®R&

4, Hdl HRD

Correct Answer :-

o JHIQId PRP

19) & Y foRaaT §? U VY TST WA O Usdl @ WR 981 Hfe- Wt 81 FifP 39T T IR a9 & AaRe
Siaq & TRl | T @Al 31 39 JaP) AU H $© 1l W 91y ST Al 81 8, 7 o GuraAn ot g ar
812 g € fpan o1 v @ b 37 @ 7 &1 st fvar vy, fakiy w0 9 ¥4t &1 g w1 gl & g
Suaft 8 WwdT 31 TP SR 98 B 6 A safe foraar § f waw S arean § 9 7 e g, o e s
Y BT IR 8! FId JhdT g1 Iad § T=T S<R Fal 8| Rirad? € awe 39 R faasrar #) ugarar 8 s
PR I forar 3R foerRae? €1 a8 I9A gad 81 oirar g1 § off 39 sriafve faawmar @ gfed R & g, dewy giar
I @A 3R UgH A1 F fore ferar §1 O-7 fay 8 % 9ot pfaer it foraa &1

S e $ UgH 19 IR T Y BT IR 9q154:
TR - MR W W 2

1. 0T i

2. gfg Sfd



3. fowet 9fY
4. <14 fY

Correct Answer :-

. JUIERY

20) ¥ T4} foraar §2 U UY 981 T o Usdl § W 981 B+ W 1 i 391 T=1 I dE® & Siidike
Siteq & TRl | T @Al 31 39 JaD! AU H $© a1l W Iy ST A ol 81 8, 7 9 THraAn ot g ar
812 31 8 fpa o1 v @ b 37 @ 7 &1 st fvar Wiy, fakiy w0 9 ¥4t &1 g o= gl & g
Iuaft 8 Wwdr 31 TP SR 98 B A safe foraar § f wad s Trgan § € w0 e g, ford e s
Y BT IR 8! FId ThdT 8| Iad § T=T S<R g8l 8| irad? € awe 39 R faasrar #) ugarar 8 s
PR I forr iR fRerass €1 a8 39 gad &1 wirar g1 7 ot 39 sriafve faasar @ gid uA & g, dewy giax
I @ 3R UgEH A1 F fore ferar §1 977 fay 8 % 9t pfoer it foraa &1

S el $ UgH 14 IR T UY BT IR 9q154:
W= - 3fiafve &1 faam g 2

1. 9T

2. AR

3. R

4, 9z

Correct Answer :-

21) ® 0l foraan §? U8 WY 991 WRd 9H USdT § W 981 Fied Wt 81 P SHST I=1 SR dG® & SHiaiks
g & TR ¥ T @1 81 39 P! AT A $© arad) § 9iY 7 ST o) 781 8, 7 S GHra= i @ ar
812 31 € fpar o1 W @ fob 37 @ 7o &1 st fvar vy, fakiy v A T4t &1 g w1 gl & g
STIRR 8 THaT §1 TP SR ) 9% & A sufn Rraar § A w@d o e § @ | Rrea 5, @ e gw
Y BT IR 8] Fd ThdT g1 Iad W J=I1 S<R T8l 8| s € aue 39 R faasrar &) ugarar g s
PR I forar iR ferae: €1 a8 3TN gad 81 wirar g1 # +ft 39 sriafve faawar @ gie uA & forg, qewy giax
I T@H SR UgEH A & fore feran g1 O-7 faya g % auft pfoer i foraa &1

ST TR $ UGH 19 IR T UY BT IR 9q154:
= - BfadR ®) fRrem & e 7 i swar @2

1. 3R faa=rdl, 3FYfd d W&d &I ST

2. S UM DI el

3. SiIg SfiF &1 918

4. g1, faig ok ufker™

Correct Answer :-

o 3fidRep fda=rd, sryfd 9 W &l SHEAT

22) # ol foraan §? U8 WY 981 WA 9H USdT 8 W 981 $ie Wt 71 wifd suST I=1 SR d@® & SHiaiks
T & TR ¥ T IGAT 81 39 P! AT A $B aradl § FiY 7 A af 781 8, 7 S Gy of @ ar
812 31 € T o1 W @ fop 37 | 7o &1 st fhar Wiy, fakiy v @ ¥4t &1 o w1 gonl & g



STt g WwdT 31 TP SRt 98 B % A saf foraar § f w@w s argan § 9 7 e g, o s
Y BT I<R 8] [7d JhdT g1 IId § J=T1 I<R F81 2| Frad &) a@® 39 MR fagsrar #) ugarar & e
PR 3T forar iR ferges €1 a8 39 gad g1 wirar 81  oft 39 sriafve faasmar @ gfes uA & frg, dew giax
I @ 3R U A F fore ferar §1 O-7 fay 8 % 9t pfoer siifem foraa &1

ST el F UgH 19 U T Y BT IR Ia153:
U= - SuErT F1 e 8 2

1. IR

2. QAT

3. gt

4. 3TNt

Correct Answer :-

23) ¥ 74} foraar §2 U Uy 981 T o Usdl § W 981 B+ Wt 1 i 391 I=1 I dEd & Siidike
Siaq & TRl | T @Al 31 39 JaD) AU H $© 1l W Iy ST Al 81 8, 7 o TuraAn ot g ar
812 g € fpan o1 W @ b 37 @ $o &1 st fvar vy, fakiy w0 9 ¥4t &1 g w1 gl & g
Iuaft 8 Wwdr 31 TP SR U8 ? % A safe foraar § f waw s argan § 9 7 Rear g, ford e s
Y BT IR 8! FId ThdT 81 Iad § T=I1 S<R Fal 8| irad? € awe 39 R fagsrar &) ugarar 8 s
PR I forar 3R foerae? €1 a8 I9H gad 81 wirar 21 § off 39 sriafve faawmar @ gfed R & fig, dewi giar
I @ 3R UgHH A1 F fore ferar §1 977 fay 8 % 9t pfoer it foraa &1

S e P UGH 19 IR T YUY BT IR 9q153:
T - e sTun g ?

1. H AP RN

2. Had HidA

3. Hhad W

4, T AR BIEA G

Correct Answer :-

. TA 3R HfeA gl

24) ® i foraan §? U8 WY 981 WA 9H USdT § W 9871 e Wt 81 P SHST I=1 SR dG® & SAaikD
g & TR § T @1 81 39 D! AT A $© ared) § 9iY 7 SMHM ) 781 8, 7 S GHra- o @ ar
812 31 € fpan o1 wova @ fop 37 @ 7 &1 st fvar vy, fakiy w0 9 ¥4t &1 g s gl & g
Iuaft 8 Wwdr 31 TP SR A Ug ? 6 A gafen foraar § for waw s amedn § € w0 i g, o e s
Y BT IR 81 FId ThdT g1 Iad § T=1 S<R T8l 8| Firad? € aue 39 R faasrar #) ugarar g s
PR I forr iR feraes €1 a8 39N gad 81 wirar 81 & +ft 39 sriafve faawar @ gie uA & forg, dewy giax
I WA R UgTH a1 & e fergar §1 #v fayra @ fr wft plaer gefife foraa &1

ST TR P USH 19 IR T YUY BT IR 9d154:
7= - e &1 vy dee @ $8 aiia B 2

1. I HIdRD S J

2. 3T A

3. SWIdd gt



4. 3! UfAgT &

Correct Answer :-

o 3P AR SaT I

25) ® i foradn §? U8 WY 981 ORd 9H USdl § W 981 Fied Wt 81 P SHST I=1 SR dG® & SAaikD
g & TR A R @1 81 39 P! AU A $© ared) § 9iY 7 SMTH o) 781 8, 7 S GHra- o @ ar
812 31 € fpa o1 v @ fob 37 @ 7 &1 st fvar vy, fakiy wu 9 ¥4t &1 R w1 gl & g
Iuaft 8 Wwdr 31 TP SR At Ug ? A gufen foraar § fr waw s Tmean § € w0 e g, o e s
Y BT IR 5! Fe Gopar 1 aad ¥ T=1 I 98! 8| forae? € dwe 39 maR faarar #) ugerar g e
PR I forr iR fReras: €1 a8 3TN gad 81 wirar 81  +ft 39 sriafve faasar @ gid uA & forg, dewy giax
I WA R UgTH a1 & e fergar §1 AR fayra @ fr it plaer seife foraa &1

ST TR P USH 19 IR T UY BT IR 9d154:
WA - g T 3R faa=rar ¥ arud @ 2

1. TGP DI Hpioid ¥

2. gD DI SR

3. A9® & R BT a1 9

4. SWRIad it

Correct Answer :-

. 9GH P MR BT S

26) ® T foraaT §? U8 WY 98T WA 9H USdT 8 W 981 FieA Wt 71 Fifd suST I=1 SR d@® & SAiaiks
g & TR A T IGAT 81 39 Ja$! AT A $o aredl § FiY 7 3 af 781 8, 7 S FYraEn o @ ar
82 ga-1 €1 fvar o e 3 fr 398 A o @1 W=t fFar 91, faky wu d 6t @1 g 9 gl & g
IUUNT B hdT 31 U IR oY 98 © b & gafe feraan § & wau st =g § & w4l foraan g, @ famn s«
Y BT IR Tl Fre Ahar 31 aRad § = IR 981 31 Rrgar ) dwe 39 smdar faazrar 5t vgarar @ e
PRI IA @ iR fRrae & a8 39 gad g wirar 21 & oY 39 sriafive faawar @ gfdd um & forg, dewr e
IH 3T R TgEH o1 & Rie forgar §1 471 faywy @ 6 @it ploer geifee Rrea €1

SUYT TR F UgH 12 IR T ¥y HT IR Iaq133:

U - SR fyawmar 3 W7 g1 & fog due s aRare ?
1. OraaT g

2. foraar g

3. UG E

4. g ®

Correct Answer :-

. foraars

27) ¥ w4\ foraar §? 98 UY 981 T o Usdl 8 W 981 B+ Wt B 1| Rl 391 T=n S dwsd & Siiaie
g & TR A T IGA1 81 39 P! AT A $o aredl § Fie 7 3 oY 781 8, 7 S FUraEn o @ ar
EY? 3o gt far o Twar 8 f6 37 I oo &1 W=l foran 9, fakiy =0 & T &1 g s gl & fere
STGTT 8 FaT 21 TP IR o U & P A suRie Rraar § i wd s aredr § 7 < Rrear g, Rrd e s«
Y BT IR 8] Fd hdT g1 Iad W I=I1 I<R F81 8| s € au® 39 R fagsrar &) ygarar @ s



FRUT T ferar ofk foraa? €t a8 U9 gaa 8t wimar 31 & +ft 39 sriafve faasmar 3 gfds um & g, dewr fiax
I T@H 3R UgI A & fore feran g1 O77 faya g % auft pfoer siifem foraa &1

ST TR $ UgH 19 IR T UY BT IR 9d154:
T - Uy BT A wreg @ 2

1. T AP T8

2. SfdTdl

3. 3R

4. {did

Correct Answer :-

28) ® Tl foradT §? U8 WY 98T WA 9H USdT 8 W 981 Ffed Wt 71 Fifd sHST I=1 SR d@® & SAiaiks
g & TR ¥ T IGAT 81 39 JaP! AU A $o aredl § FiY 7 A af 781 8, 7 S FyraEn of @ ar
812 31 € b o1 W @ fop 37 @ 7o &1 st fvar g, fakiy v @ T4t &1 R w1 gl & g
SUGNT 8 FeaT 21 TP IR o U § P A suRie Rraar § iy wd s e § 1 w0 Rrear g, R e
WY BT IR 1! Fra a1 31 aRad H =1 SR 981 31 g ) daw 39 smdar faazrar &t vgarar @ e
PR I forar iR fer@e: €1 a8 3T gad 81 wirar g1  +ft 39 sriafve faasar @ gid uA & forg, dewy gias
I WA R UgTH a1 & e feraan §1 iR fayra 3 fr wft sl gefife forad 7

SUT TR F UgH 12 IR T Uy HT IR Iq133:
U - ‘W 1 Rrear g2 g At 8 ?

1. T AP TS

2. HId dld&

3. U dRIDh

4, 91 dTID

Correct Answer :-

o UY AP

29) ¥ T4\ foraar §? U UY 98T T o Usdl 8 W 981 B+ Wt B 1| Fiifr 3971 T=n S AW & Siiaike
g & TR A T IGdT 81 39 P! AT A $o aredl § Fi¢ 7 3 Y 781 8, 7 S Fyraqn of @ ar
EY? 3T gt far o Awar § 6 37 I oo &1 W=l foran o, fakiy =0 & T &1 g s gl & fore
IyUft 8 WHdT 81 TP SR f U8 § % A gafen foraan § for wau s wmedn § & i forman g, ford faer s«
Y BT IR 8] Fd PdT g1 Iad W J=1 I<R F81 8| Fred? € au® 39 R fagsrar &) ygarar @ oreae
PR ITA forar MR foerae? €1 a8 I9A o &) wirar 21 § off 39 sriafve faawmar @ g R & g, dew eiar
I T 3R U A1 F fore ferar g1 977 fayw 3 % it pfaer it foraa &1

ST TR P UgH 17 IR T WY HT IR 9ad133:
WA - 3 § U ? ?

1.%

2. 3T

3.3

4. 3



Correct Answer :-

30) & w41 for@aT §2 98 Uy 981 I o1 Usdl & W 981 BfeA W B | s s W= 3w dws & Siiaie
i & TRI A W TWdT 8| 39 qaD! HaU & $ aradl § qiY 37 A af e €, 7 W wuran ot g ar
812 ga=1 €1 fvar o T 3 fr 378 A oo @1 W=t i 9, faky wu @ ¥t @1 g 9 gl & g
IUUNT B dl 31 U IR oY 9% @ b & gafe feraan § o wau st =g § 1% w4 foraan g, for@ famn s«
WY BT IR Tl Fre a1 31 aRad § = IR 98! 31 Rrgar 8 dae 39 smdar faazrar &t vgarar 8 e
PRI IA @ iR R & a8 39 gad g wirar 21 & oY 39 sriafive faawar @ gfds um & g, dewr fiaw
I @A 3R UgIH A1 & fore feran g1 O77 faya 3 % it pfoer i foraa &1

SUY T B UgHR A YD ¢ U BT IR qA153:
T - AT Tl for@ar @ 2

1. IR U & forg

2. §47 B Savga & farw

3. Q@ UA & forg

4. fergen gard B oH & forg

Correct Answer :-

. forga god 81 H & forg

Topic:- Sanskrit (SAN)

1) CANCELLED

AT eaara-aeyary: & gaagaefa?

, LI

Correct Answer :-



. T |
. AT |
_ G |
,

Correct Answer :-

-,

| 9&ITaH |

3)

PESRIdRIS, (d-

T |
eadNdH.
1.

=,

, AIG{GH |
-3 .
ATIIERA |

3.

, TEARH, |

Correct Answer :-

. AN |

Correct Answer :-



3 |

.
IER"(TI?H
A Y
t
2.

qa=ics: |

3
4"*3|'|'{~_==n"=|

Correct Answer :-

7)

A9’ TR 96 999 F: ?
. 2] |
2. ‘



, |
, 2

Correct Answer :-

. Ad

10) ,

3MGE: ' T IAT: F: ?



P ey I [AuEa R 2
e T T G: |

Fe: W T A

2
, e T I &: |
, 3¢ : FAG: |
Correct Answer :-

S TG |

12)

‘qeTA: TRRAd |7 S IIRSERT: &: 2

T

SHT |

T

S |

2.
AN L

3. ']' |
-

4. :I:"a |

Correct Answer :-



15

Correct Answer :-

22

. =
B EFAME L LI P-ALSE
2. a:rr

3 Ao q< e

a [ ol —
. Arddd[eAQIHAA:

Correct Answer :-

. —
g ilddreddHegIrd:

15)

QIOTH-SUTTd FTEGTRIE Fid ST IS ?



9
10

4.

Correct Answer :-

16)
AETqE T TTHT: T 2

, g
,
, A
.

Correct Answer :-

wad |

17)

. m . . .
(Al H -qUc-Hgl=d: A [HGleasd Hqdsh: —

EIECERIECE

[ —

a9 ad:

TORTcHF Y

4.

Correct Answer :-

SBIEIREEAC R



‘S0t Focell Tl T9ed 3T e HaH ?
1. {‘ |

-,
e |

= ~
| AR |

-
ST

Correct Answer :-



4_gtrum'-$||

Correct Answer :-

21) e~ =

A [T TART: F:7?

22)
AR Y, TG T WY SARAAL TR AW 3d 98 HH g=491d ?
. | |

e |
ITSH |
3.
N
, T |
Correct Answer :-

.TIGI'FU



‘ST I T AY: F: ?

forsrore gear2 e aad -

SIGREEIRE |

1.

Z_WéﬂmHiWHi

4HHH4N#%

3.

Correct Answer :-

AAINAH



Correct Answer :-

26)

A ATAHET TTH H&d AT Trershed 1 97 & d -
. ATZ9ATS

2. i
3. -q-

. .
. AdlsiAdls

Correct Answer :-

T
, A |
Correct Answer :-

T4 |

-,

HEIERICEHEDE

1



=
_ WETCHTITT

3 AT -5

.

-y -
EEEIGE=G
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Correct Answer :-

| HETeHTIT

| HivaTe aite: g | |
 Tfegd TRa: g | |
| A qRa: g | |

™ ™ ™. i L
\ HiwG{ 9Nd: Mgl 9 |
Correct Answer :-

 mfeqt aRa: g wf |



31)

FOrATAT: {EATS aad-

1 foreTeR:

) 75T |

Correct Answer :-



. P

Correct Answer :-

. L

* FHHTIT TATHAT AT FATE: FA —

[ —
LERLES AR

2. :
, T
TEATL:

4,
Correct Answer :-

‘ S SRS 9 3=d |/
1. |

) RMEFHdSH |

3. ' |
, e |

Correct Answer :-



. fria:saﬁ'az |
IS J9: |

2.
.
| s B g |
=,
4 i5: 09 39 |
Correct Answer :-
- =
ISl O9: |

37)

TTaATe Hgladd AT AT TART: TATTH T
AT HdaH ?




, SIS |

Correct Answer :-

*) e S TeESE: & 2
1$ﬂ+$ﬂw

lﬂﬂ+ﬂﬂ

1%ﬂ+%ﬂw

4$ﬂ+ﬂﬂw
Correct Answer :-

ST+ e |

deTHT SR -

. SIEECHE amé&q: - q\:ﬁq: |

G - [EHIAG: - AHG: |

it nt o,
, 4G - HIHEG;: - SHYeEq;: |

Fdg: - ISIdq: - AHYG: |

4

Correct Answer :-

FIAG: - AJAG: - FHAG: |



HHIRA: |
42) . R o N N e
TSl HIgHIAST 2Td TEdh i Tl '\‘l"l_\?
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